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QUESTION 1

What Mapper function can you use to get the lookup value in Mapping Builder?
A. GetLookupValue

B. FindLookupValue

C. LookupValue

D. SearchLookupValue

Correct Answer: C

Reference: https://docs.oracle.com/en/cloud/paas/integration-cloud-service/ocmap/using-oracle-mapper.pdf

QUESTION 2

You are developing orchestration-style integrations in the OIC Designer Portal and have discovered that the Outline
View is not available in your OIC instance environment. What is the name of the feature flag you will need to request to
be enabled by raising a Service Request from My Oracle Support?

A. oic.console.integration.outlineview

B. oic.ics.console.integration.layout

C. oic.console.integration.outline

D. oic.console.integration.pseudoviewl

Correct Answer: B

QUESTION 3

Which four are states that a device can be in throughout its lifecycle?
A. Activated

B. Decommissioned

C. Disabled

D. Saved

E. Deactivated

F. Registered

Correct Answer: ABEF

https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/developing-applications-oracle-internet- things-cloudservice.pdf
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QUESTION 4

Your design of an asynchronous OIC integration flow includes the requirement for additional processing logic that is
conditionally based on the results returned to the integration instance from earlier external service invocations. You
have decided to leverage the Switch action to facilitate this implementation. Which is a valid consideration concerning
the configuration and capabilities of the Switch action?

A. Any data objects returned within a branch of a Switch action will only be visible within the implicit scope of that branch
and not visible in the main flow of the integration outside of the Switch action.

B. You may need to create conditional expressions for each branch with greater complexity because nested Switch
actions are not supported.

C. All branches within the Switch action must have a conditional expression defined.
D. XPath version 2.0 functions can be used to create more complex conditional expressions for a branch.

Correct Answer: C

QUESTION 5

Which three are characteristics of Device Virtualization?

A. Oracle Internet of Things (IoT) Cloud Service does not support Device Virtualization.

B. You can monitor each device endpoint\\'s health, performance, and location via the client software
library API or with REST calls made to those devices.

C. You can collect data from your devices using APIs delivered with Oracle Internet of Things (loT) Cloud Service Client
Software Libraries or Oracle 10T Cloud Service Gateway.

D. The APIs provided enable you to send telemetry messages and device data from your devices to Oracle Internet of
Things (loT) Cloud Service, control your devices, and deploy applications to your gateway devices.

E. Devices used are not real. They are virtual devices and linked with Oracle Internet of Things (IoT) CS.
Correct Answer: BCD

Reference: http://www.otechtalks.tv/an-introduction-to-oracle-internet-of-things/
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